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2y 0.74% (+6.0bp)

10y 1.56% (+6.4bp)

30y 227% (+4.5bp)

[7|E} 10YZ=]

¥z 0.54% (+1.1bp)
=9 -0.10% (+1.6bp)
m2A  012% (+1.8bp)

O|t2|0F  1.06% (-1.6bp)
AT QI 0.92% (-2.5bp)

d2|A  8.01% (-7.5bp)
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s <MBL0| Ofzh> AQ[MS 0| 512.053% |

DOW30 18613.52 (+0.64%)...At& X0 X|
NASDAQ 522840 (+0.46%)... Atat X[11X|
S&P500 218579 (+0.47%)...At&H XD K|

NIKKEI225  16735.12 ( 0.00%)

SHANGHAI 3002.64 (-0.53%)

FTSE100 6914.71 (+0.70%)

DAX30 10742.84 (+0.85%)

CAC40 4503.95 (+1.17%)
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SE2/2 11136 (-0.0038)

2/ 11352 (+0.32)

chay/d 10191 (+0.65)

He2/f12t  6.6255 (-0.0275)

o2 /%8]  1.29546 (-0.00507)

NDF 1098.50 / 1099.009..1.00% 3}
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WTI 4349 (+4.27%)

COMEXE  1350.00 (-0.10%)
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A1 2048.80 (+0.20%)

TAEF 703.33 (-0.58%)

f/22{ 1099.50 MLH| +4.10¥
*KTB: 111.05, ™ &H| -5E!

* KTB: 133.52, X YH| -6E|
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3y 1.222%  (+0.7bp)
Sy 1.248%  (+0.8bp)
10y 1.396%  (+0.5bp)

CcDh 1.360%  (Obp)

3y -1.5bp (+0.3bp)

Sy -3.1bp (-0.3bp)
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10y -13.9bp  (Obp)
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1Y 12550% (+0.75bp)
2Y 1.2125%  (+1.00bp)
3y  12075%  (+1.00bp)
5Y  1.2175%  (+0.50bp)
7Y 12250%  (+0.25bp)

10Y 1.2575% (+0.50bp)

12Y -425  (+0.25bp)
2*3Y  -050 (Obp)

2*5Y 050  (-0.50bp)
3*5Y 100  (-0.50bp)
5*7Y 075  (-0.25bp)

5*10Y 4.00 (Obp)

*CRS =2
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1Y 12150% (-1.00bp)
2Y 1.1250%  (+0.5bp)
3y 1.0800%  (+0.5bp)
5Y  1.0500%  (+0.5bp)
7Y 1.0250%  (+0.5bp)
10Y 1.0050%  (+0.5bp)
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O|=-7¢ 204EOH(MoM) (0]7:0.6%, 0f410.4%)

-7¢ PPI(MoM) (0| :0.5%, 0f4$:0.1%)

78 2PPIMoM) (0| F:04%, 0 4+:0.2%)

-8 O|A|ZHTHA B RHAZ|X| 4= (0]7:90.0, O 4:91.5)

-6 7|} L (MoM) (0]74:0.2%, 01 41:0.1%)

S3-78 LY LH(YoY) (017:6.2%, Of&:6.1%)

79 ADfEOH(YoY) (0]7H:10.6%, O 4+:10.5%)

{EZE-227| GDP(QoQ) (0|F:0.3%, 0f4:03%)

= Q-227| GDP(QoQ) (0]7F:0.7%, 0i44:0.2%)

78l CPI(MoM) (0|F:0.4%, 0}|4+:0.4%)

SH2-79 £ 7HZ(YoY) (0| H:-4.9%)

-78 =YL =7FK|=(YoY) (0| H:-4.9%)




